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= SPT: Shortest processing time
= EDD: Earliest due date

= SLACK
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= ... ect.




+

s SPT (shortest processing time):

s EDD (earliest due date)
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Job Shop Scheduling Problem)
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Example:
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= Program valuation and Review Technique

= (network)
= ( activity)
= event node)
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(activity network)
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(earliest node time)
(Te)i =max[(Tg) +tq] (=12, ,n)

(latest node time)
(TL)i = min[(TL)j _tij] (1=12,-- ,n)

(SL)i = (TL)i _(TE)i




(earliest start time)
(1, J)
ES;; = (Tg);

(earliest finish time)
(1 1)
(latest start time)
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LS;; = LF;; —t; = (TL)i — ¢



(latest finish time)




+ .

FF; =(Te); —(Te)i —t; =(Te) ; — EF;
FFR; =(Te); —(TL)i =t




(TL)j —(Tg); =t
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i CPM (critical path method)
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